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All questions are compulsory.
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SEcTiON A (TITE A)

1. (a) Reduce the following propositions to their logical

&

form (any four):

(i) Few students are hardworking.
(ii) Not all politicians are statesmen.
(iti) Only man is rational animal.

(iv) Children are innocent.

(v) Mango is a delicious fruit.

frafafes adaEdl R/ 3T afda e 7 92fan
((F =) :

() @2 & o dgTdh

(i) TR Ja yaifas 79 AR

(ifi) ¥ 51 @ fadweia woft 34

(iv) o= wgH A3 T

(v) W TF W & 2 4

Explain the fourfold classification of proposition.
Does this apply to hypothetical and disjunctive
propositions?

AT & 9qdf Fiiet 93 sured 9w ¥
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2. (a)

Or (3Ag4a) ‘
Explain the distribution of terms in categorical
propositions. What are the exceptions to the
distribution of terms in ‘A’ proposition?

g qdars o S & =| 9 surenr Fifdu
‘A’ gdEren § 1= & e 3 #4491 Syare €2 6

If ‘No politicians are honest’ is true, what can be
inferred about the truth or falsity of the following:

(i) No non-politicians arc honest.

(ii) Some non-politicians are not non-honest.

gfe ‘A @t gadifay famer 9 ¥ 9@ @ sy
freifefEd @ gadr H A9l & ey F Sd5s
() F¢ F-ToHifen §AERR TE &1
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Or (g4

Give the converse, obverse and contrapositive of
the following:

() Some logicians are not mathematicians.
(it) All crows are black.
frefafgs & uftgds, Sfaeads aa yfa-viEda dfw
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(b)

3. (a)

What is syllogism? State the rules of a syllogism.

I[gfes w9 27 & Ay IEghm ¥ fad @)
e 4 faau sifeu
Or {(3194ar)

How is the notion of existential import used to
criticise the traditional square of opposition of
propositions?

HATA® WAd TSI fFY TER WeRTE G0y
T 3% e W 22 6

Bring the following to the logical form of
syllogism and test their validity:

frafafas @ @iff aggfa § fEfdfa &= s

duqr = S FE -

() A few persons who take exercise are
unhealthy because a few anaemic persons do
not take excrcise and every anaemic person is
unhealthy.

T8 | | FEm @ F, @ ¥ oahits
T8 G =afen sam 38 =@ a@ gt
wAfes Afam @ § )

Or (3194
A scientist is never superstitious.  Since
several teachers are supcrstitious, several
teachers are not scientists.
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:m(b)  Test.. the . validity/invalidity of any fwo of the : o
o followmg by the traditional method of rules and S

10 fallacms
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Secrion B (GUS 7)

4,.Construct truth-table to determine the ! validity/
invalidity of the following (any two): .
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(iii) (RVS)OT

3. (a)

)

TO(R.S) /- (R.S)IRVS) 10

Use truth table to decide which of the following
bi-conditionals are tautologous (any twa):

T-greht fafy gro feffa ST fF @ @ e
9w B (@ A

@) @29)=(~gD~p)
(&) p=[p.(p2g)]
(i) p=[pv(p.q)] 4

What is material implication? State the paradoxes
of material implication.
T AT T }? T AwRd & faiaw
F1 o Ffaw)

Or (3194)
Explain the difference between strong and weak
form of ‘either or’.

‘YN’ & A W fed T O s R Wy
Fifea 1 6

6. Construct a formal proof of validity for any two of the
following:
frafafas qferal & fadlt @ & aaafi s 98 g
FIWT



() (FOG). (HDI)
JOK
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iy JoK
' KvL
(L.~HDM.~I)
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(i) WOX
(W.X)DY
(W.Y)DZ /~WDZ 10
7. (#) Symbolise any iwo of the following using
quantifiers and propositional functions:
({) Children are present. (Cx, Px)
(ii) Few students are not honest. (Sx, Hx)

(iif) Only mathematicians are good logicians

. (Mx, Lx)
frqfafad § @ fodl @ @ ofaos oS
FharEarEE AU & v § waiH | ufEfda

Ffa

() =3 39fe@ €1 (Cx, Px)

(i) TB 7= darer T AT €1 (Sx, Hx)

(i) ¥ad T € F= g 69 8 (Mx, in
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(b)

8. (a)

(b)

Write a short note on Sheffer’s stroke function.
AW & QI T W S giEw oot fafge) 6
If A, B, C are true statements and X, Y, Z are

false statements, determine the truth value of the
following propositions (any three):

g A,B,C 9@ #7 € 3 X, Y,Z #99@ £ @
frfafan gedareal #1 aea qod Ml St

() [(AVY).~BJV[(A.B)V(Z.C)]

(i) [(X.Y)IBIV[(Y.Z)V(A.Y)]

(i) [(C. X)DC]D{(ADX)DC)

(iv) [BO(AVX)]D[(COA)DY] 6

Use shorter truth table method to decide whether
the following are valid/invalid:

AR qE-unt g A fRuff@ #6ifEy 5o
frafafag da/ady 3

@) {(@-9)2r).r}2~(p.q)
(i) [((p2q) . (rI5)) . (~qV ~5)|D(~pv~r) 4

Section C (@R W)

9. Discuss the fallacies of ‘Argument ad Ignorantium,
and ‘false cause’.

FIAYaE I A9 v Maem Oy @ qufa @fqu
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Or (AYdm)
Discuss the fallacies of ‘Ambhiboly’ and ‘Equivoca-
tion’.

‘1 FardfaT A1 WINE O @ dEds AW | quiT RN
10

10'.1 Write short notes on (any two):

(i) Fallacy of Petitio Principi
(it} Fallacy of composition
(iii) Fallacy of appeal to pity
wfyw fewferat fafem (= ) :
(i) TFD AW
(i) WA dadt @ dElE Ay

“ (iif) TATEE W | 10






